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QUESTION 1

Which of the following languages can be executed as a single command from a list of commands without compiling it? 

A. CLIST or REXX 

B. Assembler 

C. COBOL 

D. PL/1 

Correct Answer: A 

 

 

QUESTION 2

Which of the following enables processing of a batch job in a z/OS environment? 

A. UNIX Services 

B. ISPF 

C. TSO 

D. JCL 

Correct Answer: D 

 

 

QUESTION 3

In addition to telnet, which method can be used to log in directly to the z/OS UNIX shell through TCP/IP? 

A. logon 

B. rlogin 

C. map 

D. FTP 

Correct Answer: B 

 

 

QUESTION 4
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Which of the following allows a full panel of data entries and corrections to be sent to the receiving SNA application
when the Enter key is pressed? 

A. 3270 data stream 

B. OSI data network 

C. VTAM 

D. APPN 

Correct Answer: D 

 

 

QUESTION 5

Including all name segments and periods, the length of a dataset name cannot exceed how many characters? 

A. 48 

B. 44 

C. 40 

D. 36 

Correct Answer: B 

 

 

QUESTION 6

The range of virtual addresses that z/OS can assign to a user or separately running program is called a(n)
___________ space. 

A. Virtual 

B. Physical 

C. Address 

D. Mapping 

Correct Answer: C  

 

QUESTION 7

Which of the following is the most common business application mainframe workload? 

A. Batch and online transaction processing 
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B. Printing and distribution processing 

C. Backup and archiving processing 

D. Restoration and recovery processing 

Correct Answer: A 

 

 

QUESTION 8

Which of the following is the most commonly used interface for z/OS application programmers? 

A. Rational Developer for System z (RDz) 

B. TSO/E and ISPF 

C. X Window 

D. TN 3270 

Correct Answer: B 

 

 

QUESTION 9

Which of the following best describes an assembler instruction? 

A. A request to the assembler to do certain operations during the assembly of a source module 

B. A request that must be parsed, interpreted, and executed each time that the program is run 

C. A request to the assembler program to process a predefined sequence of instructions 

D. The symbolic representation of a machine language instruction 

Correct Answer: A 

 

 

QUESTION 10

Which of the following describes the major difference between and FICON or ESCON channels? 

A. ESCON channels are faster, FICON channels are slower 

B. ESCON channels use hard copper connections, FICON channels use fibre connections 

C. ESCON channels are more secure than FICON channels 
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D. FICON channels have higher capacity than ESCON channels 

Correct Answer: D 

 

 

QUESTION 11

Which of the following describes TN3270? 

A. VTAM 3270 common storage for telnet 

B. SNA telnet standard for 3270 protocol 

C. Telnet standard for 3270 data stream 

D. TCP/IP standard RFC 3270 

Correct Answer: A 

 

 

QUESTION 12

Which of the following is an application program defined to DB2 and managed by the DB2 subsystem, used to help limit
the number of network calls to run queries against the database? 

A. User Defined Function 

B. User Defined Type 

C. Stored Procedure 

D. Trigger 

Correct Answer: C 

 

 

QUESTION 13

Which of the following is an appropriate concern for the z/OS application developer? 

A. Deciding whether business rules and policies are appropriate for the project 

B. Selecting the right personnel to assist in the development of the application 

C. Coding and testing the software being developed for a particular project 

D. Selecting the correct hardware platform to support the application 

Latest P4070-005 Dumps | P4070-005 Exam Questions | P4070-005 Braindumps                                5 / 6

https://www.certbus.com/p4070-005.html
https://www.certbus.com/p4070-005.html
https://www.certbus.com/p4070-005.html


https://www.certbus.com/p4070-005.html
2024 Latest certbus P4070-005 PDF and VCE dumps Download

Correct Answer: C 

 

 

QUESTION 14

Which of the following z/OS features allows selected programs to reside in special libraries and thereby access sensitive
z/OS system functions (such as running in supervisor state or executing privileged instructions)? 

A. Lightweight Directory Access Protocol (LDAP) Server 

B. Resource Access Control Facility (RACF) 

C. System Authorization Facility (SAF) 

D. Authorized Program Facility (APF) 

Correct Answer: D 

 

 

QUESTION 15

Which of the following z/OS components controls TSO, batch job and started task priority assignments? 

A. ASM 

B. RSM 

C. WLM 

D. VSM 

Correct Answer: C 
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